SHSE11H1BR

1-F o % B ma] — g | = & | BT
120)16-1 IEEKBEEEETEA | (EER) 1,980 2,200| smuitms | R5.3.10
121[19-1 HEEHFEEEHETELA I (1 BEH) 1,580 1,760] smuitsms | R47.28

B 122|131 {REHEEEEETEHAL 5% 1,580 1,760| smu by | R4.12.21
123[19- 15 B E R EEHRELAL (35£%) 1,580 1,760| smuir@ms | R4.8.26
12412-1 EEHEEEEETEARI U5EH) 1,580 1,760]| smulbmy | R49.14
102)13-1 MR EEEETHA 1,870 1,980| smuibmi | R47.13
103| £EThR29R ZEESE 2,090 2,310 2mul £ my R5.7.1

| 1041 B EBRREE& YN 1,540 1,760] smui @y | H20.6.30
105|6-25Thr RIBEHREE 2,871 3,190 g R5.2.1
106|EERFIETIE ThMYPT LV ERKBEDREES ] 693 770] smuitmye | 4moamen
108|2-1 B#T ZiHEBZHDMER 5,447 5,762 g H20.9.25
109| S 16 FE IR = EE B R ABER A 3,762 4,180 g R5.8.10

Al 110|18-25T2R| EERBEMSE (RUNAPEFI1AFE 4752 5,280 g R5.3.1
111 FR2ERREFRSNNE 4,356 4,840 g R2.7.10
12| 2 ERHEZ D EMEEQKA 660 1,100] smuitms | H28.4.1
114)1-2 2 m # fi 830 1,047] syl | H16.5.6
115 B ERHAREY=17 /L @iTR) EEYH) 2,376 2,640] 2mul k@ R4.3.1

Sl 116|1-2 ERMESH 1,100 1,361 smui @ | H26.3.22
18| ZEHEICE TN EAR LN TV 1,270 1,980] smui b | H28.4.15
125|HKEThR ETAREROFIIE 1,485 1,650] 2mui @ | R3.10.15
126|65THR EIEEEIRE B BN 1,188 1,320] smuitmy | H29.7.10

128A18-4 EAXREAFEEHBIEV\ETHAR) 834+ 5,500 7,480 smui by | R4.10.26
132A140 Z(HEEEFHEAEZACD-ROM Verdo 2,860 3,920 sty | R4.10.26
131]1-1 BRI BEBHIRIZI0EH 1,100 1,320] smui k@ | H20.8.29
230|15-1 {EEHEEEEHREERR) 1,870 2,090| s tmu | R4.10.13
231|11-1 I ERE R EMEE( S E£R) 1,650 1,870] sl b my R4.8.8

S| 232|122 EEHEELERHEECEED) 1,650 1,870] smuitmy | R412.28
233|6-1 IEEHEEEERIEEGEER) 1,650 1,870] smuitmy | R4.10.26

A| 234|6-1 EEHEEXEMEEUEER 1,650 1,870] smylbmy | R2.11.25
235|2-1 EEDIEEEBI-HDEFIBENERE 1,980 2,200] smui @y | H22.4.6

Rl 236]2-1 ZHEITKROONDIVTIMTVAEE 1,980 2,200| sl tmu | H22.4.6
237|1-1 X2 Fo-av Y ILEUEEREEE 2,300 2,640] smu g | H23.12.13

7| 24011 ZiEE DD DESHEE) 2,720 3,300] emui @y | H25.1.29
241|1-1 EEE D=-HD#EHHT(DVD) 3,820 5,500] s#uit @ | H25.1.29

V| 242111 ZiHEED=HDESHI(EYR) 6,279 8,800 stytpl Emyt| H25.1.29
238|2-1 BHRIFETEHA MBEHERR(EZR) 1,560 1,905| smuirmy | R3.6.28

J|  239|4-1 MR LB ES2RIEERIEE00R) 1,540 1,980| smuirsmi | R5.4.22
249041 HRZHEFOFSIGIHR) 2,200 2,409] sty | H30.1.31

JU  250]5-1 B EREBOFEI(LER) 2,300 2,514] smu gy | RIT.12.24
251012-1 ZEPKEE (S £ 75 2 MRS HR I B £ (20079) 2,640 3,080 smui gy | R5.7.20
252[6-1 2 A (i 2751 R4S 53 RS RE ££(200/) 2,640 3,080 smui gy | R2.5.27
253|14-1 ZHEHELRAERLER) FETR 1,980 2,200] sl tmp R4.3.3
254|711 EHEHFHAGE - HRE) TR 2,090 2,200| smut@s | RTO.17

B 255|9-1 ZHEHERERGERE) IR 2,090 2,200| smu @y | RIT.9.26

| 256|1-1 ZBHEHERERGERE) TR 2,090 2,200] smutgme | H1877
| 257|211 EHEEBFHABWE) TR 2,090 2,200] sl tmp R2.4.1
258|1-1 SR E X EE 1,930 2,095| smuibmy | H13.1.31




1-F o % I B s —hiis | = 8| B0
259|2-1 EEMHBERZE 1,980 2,200] smui @y | H28.4.15
260[2-1 EERMRBRELEHER 1,930 2,095 smutmp | H2257

H 261|6-1 WHEEEEEMESE FEREMN 2,200 2,420] smul @y | R44.15
Ul 262)1-143ab e s TRIE D5 KA D DHENZ0. 500 880 sty | H27.8.20
|  263|4-1 EE R - BIAELERR 1 R ERIREE(250R]) 2,640 3,080] smui @y | H31.35
264|8-1 BB & - IRKHERE 2 FRAE BRI E £ (250R9) 2,640 3,080] smui by | H30.1.31
265|1-1 HRIET LA 25 L EREH2R(EZR) 1,560 1,905] smui @y | H31.227
266[3-1 & B HERE (H 2 RS BRI RESE (100R9) 1,540 1,980| smuitsms | R3.10.26
200[12-1 ZAEFEEHEBDOFI@IHKR) 2,090 2,409] smutmy | R34.20
201|5-1 RBFELZHEBOF5I(LELR) 1,991 2,200| s @ | R5.1.21
fAl 215|181 R AFE L HEF2MIEERIESE (20071) 2,640 3,080 smuitmy | H29.8.9
X|  205|3-1 R BFEEHE2MIEERIRELE(100R) 1,540 1,980] smuitms | R5.9.21
B 204|171 ZEFEEHER 1 REERIREE(200R) 2,640 3,080] smuitmy | R5.4.18
El  202|12-1 R EHEBEDF5I#HR) 2,400 2,619 s ey | H30.1.31
Rl 203|8-1 MEERZEHEFDFSI( LK) 2,400 2,619 smu @y | R3.4.20
214)15-1 MEER E M ETE 2 MR RRELE (200R]) 2,640 3,080] s tms | R3.10.26
207|6-1 MESRE i 752 MRS HE R RE ££(100R8) 1,540 1,980] smyirmy | R59.13
208[9-1 HE SR (i 275 1 1R S % RS RE ££(200R) 2,640 3,080] s Lmsu | R3.11.24
209|111 i 8 (B6HI) 1,540 1,650] nimumrms | R34.14
210[4-1 BRAETEAR XEFELHER2REZR) 1,560 1,905] smui k@ | R3.12.10
21131 BRAETEA HMRZEHERREEZR) 1,560 1,905] smuibmy | R44.27
280|2- 1 EEEEGEEER) EA I (EXE) 1,320 0] == H24.8.8
281|3-1IREEFEEGEEER)KAI 1 5E7H) 1,320 O] == R2.8.20
282|2-1{EEEEAGEEER AL 25 £%) 1,320 0] == H24.8.8
283|315 EHFHGEEER) AL (BB 1,320 0] == R3.2.22
284[3-1{EEEEAGEEER AL USEH) 1,320 0] == R2.8.20
285 | R EREBOF 620 838| smu gy | H18.9.20
| 286|HMmMEHEF DTS 1,980 2,200] smul g | H18.10.30
2872 1 RREBEBOFSI 1,100 1,320] smui e | H26.11.7
28921 R BEFEEHEBEDFSI 1,540 1,760] smui @i | H26.3.22
291 | B ERBEBOF 1,760 1,980] smuitmy | H19.7.3
Tl 27921k EHEHF DTS 1,980 2,200 smuibams | H26.5.24
2883-1 EHIHIEIC LD EBRMMBREMHER 1,980 2,200 smuibamy | H29.7.18
293|12-4 B £ E DR (125T45R) 3,030 3,300 smu g | R5.8.10
423| 2% F R 940 1,100 = =& H20.11.1
E  224|ZHFR HBAN BRI 100fLLE 11,000 11,000] = = -
425\ EFRE #HBAN (EXFERIK) 100f U E 5,500 5500 = = -
537|1-1T RIRIREEEI BF 1,040 1,152] smui kg | H21.12.16
539|1-1T/ME - KIBIRIFESE) BT 1,150 1,257] smul ks | H22.11.25
Bl 540|=@EEna haYPT LViE 2,514 2,860] smultgme | H24.12.3
5415-1 X )T TS F—HEHAR[E14] 5,700 5,940]| smu = | R3.10.26
542|5-1 X)) T4 TS F—HEHAR[F2%] 2,400 2,420]| smu = | R3.10.26
538|4-1 £Xa T4 TS5 r—BEMBEE 2,300 2,640| smu gy | R5.6.24
550|3-1 ¥ alF1-a P LA METHA[E15] 5,230 5,940]| smurmu | RIT.10.1
551|3-1 ¥ a)Fr-avHLas NEERAR[FE25] 3,030 3,080 smutmu | RIT.10.1
03|fEH B L iHE 870 1,100] smui by | H28.7.27
304 —0—FI(T 1712 74—hR) 1,320 1,650] 21mel bmp| H9.10.13
2] 309|tFa2YT4- =27 ILNo.1 1,100 1,320] smuitsms | S61.2.20
310|&F¥a T4 ¥=27JLNo.2 1,310 1,540] smui @y | HT.3.10
2 311|+EFxa)T4-I¥=217ILNo3 2,300 2,409 smultmp | H9.6.17
312|&Fa)T4-%=27LNo.4 2,300 2,409 smuitmu | H7.441
#l 313|EFXaUT4 =27 ILNo5 2,510 2,619] smutmp | H12.12.20
403|244 8 4 A (3o tvh) 580 660] = =z




1-F o % I B s —hiis | = 8| B0
404| & BB AR (30 E ) 580 660] = =
405t 2T 454 L ( AS) 800 800] = =%
407| X2 T451 L (RO B RIFES) 1,600 1,600] = = R4.11
4092 T154 L (1 FFER) 10,000 10,000]  szgsa
418|R e -BLEHALDERICATTERXE) 4,290 4730 = =% H22.4.6
421|security eye #5& 660 770 = =& H20.3.20
2| 422|SECURITY HANDBOOK 280 330 ==& H25.11.1
W1 |BABRARU RS/ — 550 1,100 1mo15m | H26.11.12
A |eFxaT4FALBNAT— 1,570 1885 = =
414|xo5162 (38) BEHA 1,280 1,602] = %
MN3|RHB4EY (£F) KR 1,280 1,602] = %
415|RH480E> (88) =R 1,280 1,602] = %
MNT|Ry84EV (£) LA 1,600 1923] = =
432|#4H541E> (£)2015 1,540 2200 = = H27. 5
B 433|R95AE ($8)2015 1,540 2200 = = H27. 5
426| X2 T4- TS50 F—N\wP (SP) 1,250 1430] = =
427 FaYT4-a Y IILEU AT (SC) 1,250 1430] = &
428|213y AJSSA (7°1h-) 520 880 ==&
429|238y AISSA (71)-Y) 520 880 ==&
430|E > /3y AUSSA (1Y) 520 880 ==&
435|2X T4 TS5 F——IL1Y— 508 (51 E k) 1,100 1,100 = &
436 AR H—2(3V)-I) RAE— 610 770 = = H28. 5
37 ABRA—TRVI-V) FART L — 610 770 == H28. 5
%l 438 ARRA—TRVI-L) EVY 610 770 = = H28. 5
43| ABRH—D(3VH-1) EF 610 770 = = H28. 5
0| ABRA—TRVY-I) 48 500EKLLE 590 748 = = H28. 6
AN ABRH—TRVH-I) 48 1000 E 580 738 == H28. 6
442X 2 T4 TV ILEBU R — L1 P50 (BRI B R) 1,100 1,100 = =&
2449w F<—H— 990 1320 ==& H25.6.7
245|51)—> < —h—(F7%K74}) 770 990 = = H25.6.7
246|5')—><2—h—T 1) 770 990 = = H25.6.7
247|5)—>2—h—(1vY) 770 990 = = H25.6.7
2485 ) —o2—h—(HLUY) 770 990 = = H25.6.7
245-1 |97 -v—H—ty b @EF 7KL 1,650 2200 = = H25.6.7
246-1 |9y 7 - v—h—tyT o) 1,650 2200 = = H25.6.7
247-1 |9y T - v—h—tykIvy) 1,650 2200 = = H25.6.7
248-1 |9 w7 -v—hH—tyrFELYY) 1,650 2200 == H25.6.7
544|R£L{E3EDVD £6% 100,569] 149,496] =
544-1|R £ L{EFEDVD (F1%) 17,809 31,953 &= u
E| 544-2| &4 L153EDVD (F2%%) 17,809 31,953 & H
544-3| R & L{EFEDVD (F3%) 17,809 31,953 & H
M| 544-4| R £ LIEHEDVD (FE4%) 17,809 31,953 & H
544-5|% & L{EFEDVD (F5%) 20,952 37,296 & H
544-6|% & L{EFEDVD (F6%) 20,952 37,296 & H
507|fASh2ZHEDVDE 2% 29333 47980 = u
507-1|#FSh 2 Z({HEEDVD (51%5) 24,029 26,609 = u
507-2 | D EMEDVD (F2%) 24,029 26,609 = u
545U TV RE—F ML fiTIDVD (1) 9,428 14,3001 =
502 | BHEEMH1HDOVD £6%5 90,776] 117,476 & H
502-1 | BHEEM1HDVD (E15) 18,155 21,359| —520m
7| 502-2|%EFEE R 1#RDVD (F2%) 18,155 21,359 —520m
JU] 502-3|3EFEEE1#DVD (553%) 18,155 21,359 —520m




1-F o % I B s —hiis | = 8| B0
| 502-4|%EFEE R 1#RDVD (F4%) 18,155 21,359| —s520m
502-5|3 B EE B Z K 1 #DVD (E5%) 18,155 21,359 —s520m
502-6|35 @ F B Z i 1 #kDVD (5 6%) 18,155 21,359 —s520m
5204 E{HBRAEDVD 26% 129,904 162,380f s
52218 BHEOVD (H15) 27,238] 34571 = #
52224 % i BHHEOVD (H2%) 27,238] 34571 = #
522-3[$ &% & HHDVD ($3%) 27,238 34,571| m
£ 522-4|HEHREKEDVD (E4%) 27,238 34,571 ® 5
522-5(4 %% & HHDVD ($5%) 27,238 34,571| m
522-6(4 % & HHDVD ($6%) 27,238 34,571| m
523-1|X BFHEZHEFH2HDOVD (F15) 2B 20,952 27238 =
2| 523-2| X BHWE B EH2HOVD (F25) ERE 20992] 27238] = u
524-1 | R E HE B 24OV (5 1%) iR 20992] 27238] = u
524-2 | PN (BT 2#RDVD (55 2%) EHiR 20,952 27,238 & K
525-1|MEERZ i E£752#DVD (51%) EE iR 20,952 27238 =
525-2| MBS E i £ 7524#RDVD (F2%) &R 20,952 27238 = ¥
5267 % $ H24R 2B IDVD (1) EHiIR 20,952) 27,238| ® %
528 |l HIRIREESE IDVD (£ 15) 16,761 20428 =
37|  530|2-1BiE 2R E B EREKEDVD (£15) FHE 15,400 22.000] a##cas0m | RA324~
TE]  532|2-1 Bist 2R E AN EREKEDVD (£15) $1E 15,400 22,000] as#casom | R4AB.1I~
£l 534|- 1Bt R ERBREREKEDVD(£15) FHE 15,400 22,000] as#caom | R4.12.16~
Bl 536|2-1 Bt 2R EEREKE - HiBEDVD (£15) ¥ 1R 13,200 19,800| as%<caom | R3.7.19~
553\ !) T4 -3 LB FDVD(£ 1) 1,881 3,300 ass#casom | H24.76
2| 546[1-1EFELMHER1ROVD (£158) EER 17,600 22,000] ssz<c3om | H234~
B 54714 ETE 1 HBDVD (£ 15) EHE 17,600 22,000] sgxwsom | H23.4~
%l 548|2-3MEER L £751MDVD (£145) WETIR EEiR 17,600 22,000] s#5%c370m R5.1~
549112 £ 75484 1 DVD (£ 15) EHiR 17,600 22,000] ssxcarom | H23.4~
K| 600|z@/NNiE BFAERR 4,356 4840 = u R4.12.26
B 604|FRi21 ERIEBERIE XD 942 1047] = % H21.12.21
605| H18%ER ELa7ILT—4 2,271 2530 = m H20.4.11
700| %5 E#8E SHISEMR 8,514 9,460 440 R4.12.15
|  705|65mEEHERNDI-HODANE - EEHIE 1,782 1,980 330 H25.6.20
707 |BE EEE SRRV BREEEEE15R) 1,980 2,200 165 H28.4.10
708|AI A EEERBRARNBE (B75) 1,980 2,200 165 H27.6.30
B 09| NSRAVE —BISERIETRED— 1,485 1,650 165 H31.4.25
TI0|SHSEREE LY RE1E 14,850 16,500 330 R5.8.25
| SHSERES LY RE2% 14,850 16,500 330 R5.8.25
E 72| SHSERES Y RESE 15,840 17,600 330 R5.8.25
T3 SHSEREE LY RE4IE 12,870 14,300 330 R5.8.25
N4|70BRERROER-B2HRE 1,980 2,200 165 R3.11.25
S| 716|SHSER HERRFHLZHIRI—/—F 2,970 3,300 165 R5.5.15
7| SHSEMR $18 - S RIREIT LS/ —+ 1,881 2,090 165 R5.5.15
T18|HRIE/ N —h 24 LFEE DR 1,188 1,320 165 H27.3
To|gHFMIOHZEMSE MR-SH -HE 1,980 2,200 165 R5.3.20
13| BEF LDV NVETER 1,980 2,200 165 H21.2.20




1-F o % B ma] — g | = & | HoF
800|EHEEERLE (215) 17,820 19,800] mmy k=
801|& R bR SRR EE (R5.7 BREITHUNER) E314R 1,584 1,760| 1#330M R5.8
82| RENARARER=2TIL 4,455 4,950] 1s4a00H H21.2.6
803|1E N5 IRE/ N\ T v o(niR) 9,900 11,000] zwpmp k=

Z| 804 HEMEHRERE -DONURTvo(nR) 11,880 13,200] zmmy k=
805|IKDRAYE BEERMIR (B EFXH) 31,428 - - -
806|[KDRAYE IEEMRITR (KEMNEXS) - 52,380 - -

| 807l EEAR—LR—SEBY—ER] 107,800 129,800 - -
808|I B HPRIR - SHEERI2ERDH 66,0001 66,000 - -
812|(BETHRIARXATRAENES 2,574 2,860] 1p460M -

) 813|CERIAAX BT RAERH(E10R) 4,851 5,390] 1#p460M R5.4.1
s14|Zke Re-BERTINIVY 217 242| #p=% | H28.10.31
816|SH4ELARI BRAERDEZH IDK 1/ &SHI 2,772 3,080] 1#p410M R4.7
817|(ETHR) 2BX DB A EXH! 3,465 3,850] 1#p460M R5.6.1
820| & EH5|- EMBGERARKBLERSIYMRES 1,833 2037 == H28.3.11
8307 A RN—F R (FAANYH3{ET) RAE—(S) 6,900 7,920| mBams1 B EEN
831| 74 RN—FR R (FAANY)3EHH) RAE—(M/L) 6,900 7,920| mBamK1FALEEN
832| 7 A ZRN—F R (FAANYH3{E ) A E —(LL/3L) 6,900 7,920| mBamK1FALEEN

7 833 FARN—FRR(FAANYI3EFT) RAE—(XL) 6,900 7,920| mBamK1FALEEN
834|7 A RN—FRR (FAANY)3ETH) TIL—(S) 6,900 7,920| mBamK1FALEEN

W 8357 ARN—RR(FAANy)3ER) T IL—(M/L) 6,900 7,920| mBamK1FALEEN
836|7 4 R/N—H R (F4AN 9938 4H) T JL—(LL/3L) 6,900 7,920| mBamK1FALEEN

I| 837 FARN—FRR(FAANYY3MERT) TIL—(XL) 6,900 7,920| mBamsIFALEEN
838|7 A RN—RR (FAANy)3E) F'L—(S) 6,900 7,920| mBamK1FALEEN

#| 8397 ARN—RR(FAANYI3MEM) I L—(M/L) 6,900 7,920| mBamK1FALEEN
840| 7 4 RN—H R (F4AN )3 ) 5 L—(LL/3L) 6,900 7,920| mmBams1FALEEN
M |7 A RN—F R (FAANYH3AT) F'L—(XL) 6,900 7,920| mBamK1FALEEN
842| 7 4 RIN—% R (FAANY)3EE) TS50 (S) 6,900 7,920| mmamH1FMALEEN
8437 A ZN—F R (FAAN 3B ) TFv5 (M/L) 6,900 7,920| mmams1FMALEEN
8447 A ZN—F R (FAAN 3B L) TFvH(LL/3L) 6,900 7,920| mmams1FALEEN
8457 A RN—F R (FAANYH3MEF) T 5w (XL) 6,900 7,920| mmams1FALEEN
846|374 R/ v% (3EEYR) 1,300 1,885| mmamiss AMELEEE
847|HBIANS YT 500 660] mmEmEs FELE
848| 7 4 R/N—H R (74 AN y) 318 1) 30075 LAt 6,875 7,920 Eide
849X AT A R/ 3w (3fE k) 300tyh L E 1,155 1,885 &
850|NEWF A AN—4A1=74—h (RS EIZERT) R4 E—(7Y-) 7,500 9,020| mmam®HIFMALEEN
851|NEW7AN—3R1274— 4L (RAFISE ) R AR (7Y-) 7,500 9,020| mmBam®K1FMLEEN
410|AJSSA HV)TF 274 IL(Er795—11) 100 102 = = R3.4
450]AJSSA T vV (#iifa) M 1,320 1324] = & H30.5
451|AJSSA TS v (fiifa) L 1,320 1324] = & H30.5
452]AJSSA TS v (fiifR) LL 1,320 1324] = & H30.5

2| 453|AJSSA T4 () 3L 1,450 1,500 == H30.5
454]AJSSA T v (fiifR) 4L 1,450 1,500 == H30.5
455|AJSSA RELE U RAL Y (Hif) M 1,730 1,733] = =& H30.5

2|  456|AJSSA RALEIUROL Y (fif) L 1,730 1,733] = = H30.5
457|AJSSA RELE RSP (HifR) LL 1,730 1,733] = =& H30.5
458|AJSSA RAVE Y RO Y (Fif) 3L 2,101 2200] = = H30.5

7l 459|AJSSA RELE RO Y (Fif) 4L 2,101 2200] = = H30.5
460JAJSSA R—)LRU 2R v— TRy (FIREK=)) 540 550 = = RJT.6
420]AJSSA FvyTF(Av-Ayya) #H4RLL/ 8L 2,860 3,080 == R5.8.1
434|AJSSA FwT:ARSYT 610 612 == H29. 7

OFHLAH DI, RHRXMBETED TIEIX TS,




N ES B % [nEEfmE] —RfE] & N | <00 |
IEEEEE WIS Y
U BEREEERE VDB ~4B) 1,360 1,360 = =
MRS REREEE VD 1,360 1,360 ==
OREFEY DF A TG M/ N\ DS~ T XBREVLET,
BEN v i
B ER-BER - HBRE RV 1,320 1,320 = =
TE-ER-ER- BB - RRE2R YD 1,050 1,050 = =

OBRENY DTIXIFEER - PHRRABEOLES .



